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QID : 301 - What kind of device was Astrolabe?

Il fobd TbR b1 4 U2

Options:

1) Distance meter

T IddEaran

2) Season meter
ATy Jaamarar

3) Latitude meter
CIINERKIE IS

4) Temperature meter

GIECIEEGRIE]

Correct Answer: 3) Latitude meter

ST T aTel

Candidate Answer: 3) Latitude meter
&I I aTell

QID : 302 - Zamorin was the king of which place?

SR BT BT ST UT?

https://btet.sifyreg.com/bsebregjan24/ccgsb_jul24/process.php?appid=599f8239ef9f8285485f04 1fca5fddcc&g=MmVhZWIXOTE3MDc5MTkxZjdIMTA...

177


https://btet.sifyreg.com/bsebregjan24/ccgsb_jul24/login.php?appid=599f8239ef9f8285485f041fca5fddcc
https://btet.sifyreg.com/bsebregjan24/ccgsb_jul24/process.php?appid=599f8239ef9f8285485f041fca5fddcc&q=MmVhZWIxOTE3MDc5MTkxZjdlMTAwYjRjYzc1MjhiNjh8OTkwMzkzNzQ3fDE4MDUyMDI0
https://btet.sifyreg.com/bsebregjan24/ccgsb_jul24/challenge_list.php?appid=599f8239ef9f8285485f041fca5fddcc&q=MmVhZWIxOTE3MDc5MTkxZjdlMTAwYjRjYzc1MjhiNjh8OTkwMzkzNzQ3fDE4MDUyMDI0
https://btet.sifyreg.com/bsebregjan24/ccgsb_jul24/challenge.php?appid=599f8239ef9f8285485f041fca5fddcc&q=MmVhZWIxOTE3MDc5MTkxZjdlMTAwYjRjYzc1MjhiNjh8OTkwMzkzNzQ3fDE4MDUyMDI0
dell
Stamp


7/12/24, 12:48 PM BIHAR SCHOOL EXAMINATION BOARD
Options:

1) Madras
Hald

2) Spain
T

3) Calicut

PIAIHe

4) Dutch
Ll

Correct Answer: 3) Calicut

CANICT

Candidate Answer: 3) Calicut

PIAIHC

QID : 303 - Who told Vascodagama to reach India?

TGS BT YRA Uga- BT AT f- Sarm T2
Options:
1) Abdul majid

3Ega Hoilg
2) Maglalan

3) Kabral
DR
4) Bartholomio diaz

T fgams

Correct Answer: 1) Abdul majid

3agd Aol

Candidate Answer: 1) Abdul majid
g ToilG

QID : 304 - Where was the secular state first established?

erifARUeS ST BT RITTAT GUUH HET g3?

https://btet.sifyreg.com/bsebregjan24/ccgsb_jul24/process.php?appid=599f8239ef9f8285485f04 1fca5fddcc&g=MmVhZWIXOTE3MDc5MTkxZjdIMTA... 277
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Options:

1) America
3RT

2) France
an|

3) Russia
=Y

4) Japan
SICIE]

Correct Answer: 1) America

MR

Candidate Answer: 1) America

3R

QID : 305 - What was the most important achievement of American freemdom struggle?
AN WdAdl TUTH &1 o Hedyu! Suarsd a1 Ui?
Options:

1) Downfall of George llI

STt i &1 uad

2) Birth of the United States America

Tgard I ARG o1 3¢

3) Freedom of thought & expression

foaR 3ifHeafaR Bi Taczrar o1 e

4) First use of republican type of government.
TUTATHD IR BT Ugal TN

Correct Answer: 4) First use of republican type of government.
TUHATHS AR BT Ugall TanT

Candidate Answer: 4) First use of republican type of government.
TS AT BT Ugdl YN

QID : 306 - When was slavery finally eliminated ?

Y TUT 1 SHfH U Y IHI B gai ?

https://btet.sifyreg.com/bsebregjan24/ccgsb_jul24/process.php?appid=599f8239ef9f8285485f04 1fca5fddcc&g=MmVhZWIXOTE3MDc5MTkxZjdIMTA...
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Options:

1) 1846

1846

2) 1848

1848

3) 1852

1852

4) None of these

T A P T

Correct Answer: 2) 1848
1848

Candidate Answer: 2) 1848
1848

QID : 307 - Which country exited from world war | in 1917 AD ?

1917 3. B HH X UYY faRagg T 3@ g a1 2
Options:

1) Russia

SR

2) England

3) America

SARBT

4) Germany

SHA

Correct Answer: 1) Russia
SR

Candidate Answer: 1) Russia
SR

QID : 308 - When did world war |l end ?

fea favags &1 3 e gan 2

https://btet.sifyreg.com/bsebregjan24/ccgsb_jul24/process.php?appid=599f8239ef9f8285485f04 1fca5fddcc&g=MmVhZWIXOTE3MDc5MTkxZjdIMTA...
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Options:

1) 1939
1939
2) 1941
1941
3) 1945
1945
4) 1938
1938

Correct Answer: 3) 1945
1945

Candidate Answer: 3) 1945
1945

QID : 309 - What was the immediate couse of world war one ?

TUY fARagg o1 AlehIicidh HRUT T AT ?
Options:

1) Bismarck's chancellorship of Germany
fSreATeh 1 ST T IER &1

2) Emperor Kaiser william's rule

TYTe FHoR faferad &1 e =1

3) Crown prince of Austria murdered in sarajevo
R & JaRTS Bt ARoG! A §AT

4) Germany submerged British ship Lusitania

ST gRT fafesr SgTet Qi &1 gam ST

Correct Answer: 3) Crown prince of Austria murdered in sarajevo

RN & GaRTST H1 AROIE! A g

Candidate Answer: 3) Crown prince of Austria murdered in sarajevo

RN & GaRTST 1 ARoal A g

QID : 310 - Who was the leader of the Nazi Party in Germany?

SH H Aot urdf &1 Ad1 BT UT?

https://btet.sifyreg.com/bsebregjan24/ccgsb_jul24/process.php?appid=599f8239ef9f8285485f04 1fca5fddcc&g=MmVhZWIXOTE3MDc5MTkxZjdIMTA... 5177
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Options:

1) Winston Churchill
ﬁma&fr«r

) Benito Mussolini

éﬁag@ﬁl:ﬁ
3) Adolf Hitler
TSIk fgeer
4) Joseph Stalin
SR wife

Correct Answer: 3) Adolf Hitler

TSI fgear

Candidate Answer: 3) Adolf Hitler

TSI fgeer

QID : 311 - Sarhul is celebrated during -------- eason?
LR f— o auf g & SR 7T ST |
Options:

1) spring season
JIHd g

2) rainy season
asi %g

3) autumn season

yd<ls Bd

4) None of these

T A IS T

Correct Answer: 1) spring season

JUd Fg

Candidate Answer: 1) spring season

JUd Fg

QID : 312 - Who were involved in the Kol rebellion ?

0 B DId fagig § e o7 2

https://btet.sifyreg.com/bsebregjan24/ccgsb_jul24/process.php?appid=599f8239ef9f8285485f04 1fca5fddcc&g=MmVhZWIXOTE3MDc5MTkxZjdIMTA... 6/77
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Options:

1) Queen Shiromani
I R

2) Churaman Ray
JSHARM™

3) Budhu Bhagat
Y WA

4) Bhairav

RT

Correct Answer: 3) Budhu Bhagat
gY HITd

Candidate Answer: 3) Budhu Bhagat
gY HITd

QID : 313 - Which of the following are coarse grains?
ST 9 3F O Fafifed dic sA 67

Options:

1) Jowar
GdR

2) Bajra
SToRT

3) Ragi

4) All of these
PR

Correct Answer: 4) All of these

T gt

Candidate Answer: 4) All of these
B

QID : 314 - Which tribal leader led the rebellion in Bastar against the forest laws imposed by the
British?

forg anfeardt =ar =1 SRS gRT TN T o5 ST & RIATh SR B i &1 g fohar?

https://btet.sifyreg.com/bsebregjan24/ccgsb_jul24/process.php?appid=599f8239ef9f8285485f04 1fca5fddcc&g=MmVhZWIXOTE3MDc5MTkxZjdIMTA...
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Options:

faar ger

2) Gunda Dhur
TeT R

3) Rani Gaidinl

RETKIE A,

a result of new

Options:

RGN

2) Green Revo

gk wifd
efteprur
STYFBIHRT

gied wifd

gikd shifd

https://btet.sifyreg.com/bsebregjan24/ccgsb_jul24/process.php?appid=599f8239ef9f8285485f04 1fca5fddcc&g=MmVhZWIXOTE3MDc5MTkxZjdIMTA...
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1) Birsa Munda

iu

4) Alluri Sitarama Raju

S IR S

Correct Answer: 2) Gunda Dhur

ST R

Candidate Answer: 2) Gunda Dhur

TSTHR

QID:315-The ..ccccceeeennes was the time in which agricultural production increased significantly as

inventions.

T UG YT 919 T HTTSHRI & IRUTHRAEY HY IdTe H Ieara-1d 3ia g3

1) Land Reforms

lution

3) Globalization

4) Modernization

Correct Answer: 2) Green Revolution

Candidate Answer: 2) Green Revolution

QID : 316 - Which of the following is known as golden fibre?

FafiRad & ¥ fod fice Breer & Y T ST SIldl 82
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Options:

1) Cotton
PU™H
2) Jute

c
3) Hemp

TS
4) Silk
P

Correct Answer: 2) Jute

¢

Candidate Answer: 4) Silk

ITH

QID : 317 - How many land areas of total cropped in percentage covered by oilseeds in India?
YRA 8 $d BUd IdTeA & B fasa1 ufasrd faeg 9 sireaiied 82
Options:

1) 21
21
2) 12
12
3)2

4) 4
4

Correct Answer: 2) 12
12

Candidate Answer: 2) 12
12

QID : 318 - Which of the following is example of kharif crops?

fFofeiad 7 @ o W% Bl BT 3380 872
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Options:

Rice

%;‘

2) Wheat
3) Gram
Bkl

4) Peas
R

Correct Answer: 1) Rice
EIEG]

Candidate Answer: 1) Rice
Irad

QID : 319 - Which one of the following crops is a beverage crop?
frofafed 3 3 oF 4 wud 0T Bud 82
Options:

1) Tea
I

2) Cotton
DU

3) Wheat

TR
4) Bajra
EISN

Correct Answer: 1) Tea
Ig

Candidate Answer: 1) Tea
Iy

QID : 320 - Where the permanent headquarters of the League of Nations?

Y Y BT RIRH GBI ol Ul?

https://btet.sifyreg.com/bsebregjan24/ccgsb _jul24/process.php?appid=599f8239ef9f8285485f04 1fca5fddcc&g=MmVhZWIXOTE3MDc5MTkxZjdIMT...
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Options:

1) Stockholm, Sweden
wibgH, Wie

2) Geneva, Switzerland
foraT, RaceRds
3) Antwerp, Belgium

4) Paris, France

R, i

Correct Answer: 2) Geneva, Switzerland

foraT, Raeords

Candidate Answer: 4) Paris, France

R, i

QID : 321 - Romanticism refers to
FARgddre & Yefifd oxar g

Options:

) cultural movement

wﬁa? NIME]

2) religious movement
Tt Siigrad
3) political movement
TS Siale
4) literary movement

el 3figia

Correct Answer: 1) cultural movement

AR Tad fiara

Candidate Answer: 2) religious movement

e siigra

QID : 322 - In Prussia, who was referred to as ‘Junkers’?

Ui § fd S Hgl STl UT?

https://btet.sifyreg.com/bsebregjan24/ccgsb_jul24/process.php?appid=599f8239ef9f8285485f04 1fca5fddcc&g=MmVhZWIXOTE3MDc5MTkxZjdIMTA...
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Options:

1) Military officials
T SHTBRY

2) Large landowners
§3 SHIGR
3) Factory owners

EESIEIIRED

4) Aristocratic nobles

WW

Correct Answer: 2) Large landowners

EEASEIARY

Candidate Answer: 2) Large landowners

ESICHICAN

QID : 323 - From where did World War Il start on 1 September 1939?

1 RyTwR 1939 &1 fiedia 3y g Fel o UR™ g3i?
Options:

1) Europe

2) United States

Tgad I 3HRDT

3) Africa

ST

4) None of these

T A IS T

Correct Answer: 1) Europe

R

Candidate Answer: 1) Europe

Rk

QID : 324 - When did the war between U.S.S.R. and Germany begin?

JUIUYSR 3R THA & S I Ha = gaf?

https://btet.sifyreg.com/bsebregjan24/ccgsb _jul24/process.php?appid=599f8239ef9f8285485f04 1fca5fddcc&g=MmVhZWIXOTE3MDc5MTkxZjdIMT... 12/77
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Options:

1) 14751
20 FIE 1940
2) 22 June 1941
22 5 1941
3) 26 July 1941

26 JaTs 1941

4) 16 August 1942
16 3ATET 1942

Correct Answer: 2) 22 June 1941
22 [ 1941

Candidate Answer: 2) 22 June 1941
22 5[ 1941

QID : 325 - In which year did the Simon Commission come to India?
T HHIRM forg I YR 3T o7 2
Options:

1) 7801

10 71§ 1921

2) 04-December-1922
4 fegaR 1922

3) 03-February-1928
3 ThRa! 1928

4) 06-February-1929
6 ThRax! 1929

Correct Answer: 3) 03-February-1928
3 TRl 1928

Candidate Answer: 3) 03-February-1928
3 HRal 1928

QID : 326 - In which year was the Indian National Congress established and who was its founder?

HRATT AT HIOT 1 RIMTAT {5 7 g3 3R 3P TS DI A2

https://btet.sifyreg.com/bsebregjan24/ccgsb _jul24/process.php?appid=599f8239ef9f8285485f04 1fca5fddcc&g=MmVhZWIXOTE3MDc5MTkxZjdIMT...
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Options:

1) 1880, Ripen

1880, RuA

2) 1884, Litton

1884, fere1

3) 1885, A.O. Hume

1885, TOSN0OGIH

4) 1887, Vyomes Chandra Banerjee

1887, SO 5 ol

Correct Answer: 3) 1885, A.0. Hume
1885, TOSMOGIH

Candidate Answer: 3) 1885, A.O0. Hume
1885, TOSMOGIH

QID : 327 - Which among the following given options, is popularly known as the “Grand Old Man of
India”™?

fRaferRad fau 7 el § ¥ o 91 el =0 J "HRd & I3 3iics 39" & U H ST S1dl 872

Options:

1) Bal Gangadhar Tilak
CISKIUIERGRED

2) Dadabhai Naoroji
GIETHTS ARGl

3) Gopal Krishna Gokhale
YT $T TR

4) Mahatma Gandhi
AT et

Correct Answer: 2) Dadabhai Naoroji

GIGTHTS RISt

Candidate Answer: 2) Dadabhai Naoroji

ITETHTS ARIGH

QID : 328 - What is the meaning of Industrial revolution?

et ifa &1 orf g2

https://btet.sifyreg.com/bsebregjan24/ccgsb _jul24/process.php?appid=599f8239ef9f8285485f04 1fca5fddcc&g=MmVhZWIXOTE3MDc5MTkxZjdIMT...
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Options:

1) Change in power

gard

2) Change in Social system
oI e B uRaH

3) Change in Production system
ITE ot H gRacH

4) Change in distribution system

faaror yomeht # uRad=

Correct Answer: 3) Change in Production system

IdTe gunelt # gRad

Candidate Answer: 3) Change in Production system

JdTe yurelt H gRddT

QID : 329 - When was the Paris Peace agreement signed ?
U rif T e g Ut ?
Options:

1) 1918
1918
2) 1919
1919
3) 1920
1920
4) 1921
1921

Correct Answer: 2) 1919
1919

Candidate Answer: 2) 1919
1919

QID : 330 - When was G-77 established ?

SN-77’ B RITGA HF B TS ?

https://btet.sifyreg.com/bsebregjan24/ccgsb _jul24/process.php?appid=599f8239ef9f8285485f04 1fca5fddcc&g=MmVhZWIXOTE3MDc5MTkxZjdIMT... 15/77
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Options:

1) 1964
1964
2) 1965
1965
3) 1966
1966
4) 1967
1967

Correct Answer: 1) 1964
1964

Candidate Answer: 4) 1967
1967

QID : 331 - Where is the headquarter of International Monetary Fund ?
SIARTT T B (1.M.F) FT AT Hgl R 8 2
Options:

1) Manila

EEIKI]

2) Washington (D.C)
qrfRire (S1.4h)

3) New York

g

4) London
E .a I

Correct Answer: 2) Washington (D.C)
qIfRiTTe (S1.4)

Candidate Answer: 2) Washington (D.C)
qIfRiTTe (S1.4)

QID : 332 - Where was the first paper making factory opened in Europe?

TRIY T BT §1 BT UgE HRET Hal W T ?

https://btet.sifyreg.com/bsebregjan24/ccgsb _jul24/process.php?appid=599f8239ef9f8285485f04 1fca5fddcc&g=MmVhZWIXOTE3MDc5MTkxZjdIMT... 16/77
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Options:
1) England

2) Russia
=
3) Germany

4) ltaly

Correct Answer: 3) Germany

SHA

Candidate Answer: 3) Germany

ST

QID : 333 - Which of the following was a European managing agency?
frafoied & ¥ ®F U R vey Toik of?

Options:

1) Tata Iron and Steel Company
<TeT 3R U8 el St

2) Andrew Yule

g qd

3) Elgin Mill

Tfei fret

4) Birla industries

[ESKIREGIU]

Correct Answer: 2) Andrew Yule
Qg qd
Candidate Answer: 2) Andrew Yule

SRR

QID : 334 - In the 17th century, merchants from towns in Europe moved to the countryside to:

174 TATsd] B, TRIY F e I ATIRY I Zareh! § 9 T

https://btet.sifyreg.com/bsebregjan24/ccgsb _jul24/process.php?appid=599f8239ef9f8285485f04 1fca5fddcc&g=MmVhZWIXOTE3MDc5MTkxZjdIMT... 17177
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Options:

1) supply money to peasants and artisans to persuade them to produce for international markets.
fHaHT 3TR PRIRT BT SHRAPT FTERT P T IATG B B AT URT B & AT 4 BT gl HrA|
2) persuade them to settle in towns.

I eI H T & o it B |

3) provide them with small workshops.

3% BIC! PRI Ta B |

4) stop them from working for other companies.

3 3 HUHT! P ot HTH H J b |

Correct Answer: 1) supply money to peasants and artisans to persuade them to produce for
international markets.

fHaHT 3R PRIRI BT SHRIAP TERT P AT IATGA HRA P 7T YR B & AT 4 BT 1YL prA|

Candidate Answer: 1) supply money to peasants and artisans to persuade them to produce for
international markets.

fpTl IR PRITRY 1 SARRITIA IR b T Jedra B3 & ey IR = & 1w o= bt amyfef &

QID : 335 - Where was the first cotton mill established?
ggel! et i Fel wiftd &t s 22 ;

Options:

1) Bombay
CiI=|

2) Ahmedabad
SigHaldlg

3) Kanpur
PR

4) Madras
Halg

Correct Answer: 1) Bombay

ES|

Candidate Answer: 1) Bombay

i

QID : 336 - On which river the Dhuandhar falls is situated?

Y3ffYR ST T e e W fRua 37

https://btet.sifyreg.com/bsebregjan24/ccgsb _jul24/process.php?appid=599f8239ef9f8285485f04 1fca5fddcc&g=MmVhZWIXOTE3MDc5MTkxZjdIMT... 18/77
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Options:

1) Narmada

THa
2)
ardt

3) Mahanadi

BB

4) Godavari

RIEER]

pI

ol

Correct Answer: 1) Narmada

THaT

Candidate Answer: 2) Tapi

ard

QID : 337 - Where is Laxmi Sagar lake located?
q&Ht IR 3 Fel RUd 82

Options:

1) Champaran
TYORT
2) Begusarai

3) Darbhanga
R
4) Supaul

Correct Answer: 3) Darbhanga
U

Candidate Answer: 1) Champaran
YURT

QID : 338 - Which of the following rivers flows through a rift valley?

Frffad & B Y= uret 9 g1 98 arelt 7dl 82

https://btet.sifyreg.com/bsebregjan24/ccgsb _jul24/process.php?appid=599f8239ef9f8285485f04 1fca5fddcc&g=MmVhZWIXOTE3MDc5MTkxZjdIMT... 19/77
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Options:

1) Krishna

P
2) Godavari

3) Narmada

THar

4) Mahanadi

HEHdL

Correct Answer: 3) Narmada

THaT

Candidate Answer: 3) Narmada

THar

QID : 339 - Where is Bharatpur Bird Sanctuary located?
AR U&ft 3gRT gl fRUT & 2
Options:

1) Gujrat

2) Maharastra
HERTSE

3) Rajastahan
RTSTRITH

4) Madya-Pradesh

AH-US

Correct Answer: 3) Rajastahan
RTSTRITT

Candidate Answer: 3) Rajastahan
RTSIRYT

QID : 340 - In which of the following states is the simlipal biosphere located?

Rrerciurer gt feig feg Isa & g 2

https://btet.sifyreg.com/bsebregjan24/ccgsb _jul24/process.php?appid=599f8239ef9f8285485f04 1fca5fddcc&g=MmVhZWIXOTE3MDc5MTkxZjdIMT... 20/77
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Options:

-
us)

ihar

|

2) Jharkhand
FRTES

3) Odisha

Jerr

4) Madya Pradesh

AT

Correct Answer: 3) Odisha

IS

Candidate Answer: 3) Odisha

QID : 341 - India is divided into how many major physical divisions?
YR B! T Tz Hifaes gumnt o favifora fosar man g2

Options:

Correct Answer: 2) 6
6

Candidate Answer: 3) 7
7

QID : 342 - Which of the following is a factor influencing the distribution of vegetation and wildlife in
India?

fRoferRad & @ & 91 4Rd & g7Hfa 3R 97 Siiad & faaRur &1 UHIfdd A Il dRP 872

https://btet.sifyreg.com/bsebregjan24/ccgsb _jul24/process.php?appid=599f8239ef9f8285485f04 1fca5fddcc&g=MmVhZWIXOTE3MDc5MTkxZjdIMT...
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Options:

1) Temperature
dyH

2) Altitude

3) Rainfall

aui

4) All of these

99 gt

Correct Answer: 4) All of these

0 et

Candidate Answer: 4) All of these

ER kst

QID : 343 - Which of the following is not a major factor influencing the distribution of population?
frafoiRaa & ¥ @ 91 S & faavur & guifad $RA aTe T HRE el 872
Options:

1) Climate
NNEIR

2) Landfoz}ms

Y Spfat

3) Polity
RSTIIRIT

4) Social factors

IS HRE

Correct Answer: 3) Polity
RSTHGRIT

Candidate Answer: 3) Polity
RTSTIGRIT

QID : 344 - Which of the following terms is used to refer to the average number of persons per square
kilometre?

uﬁ?ﬁwﬁﬁaw@ﬁaﬁﬁwmﬁﬁaﬁhmﬁimmﬁﬁmwwwm
ST 872

https://btet.sifyreg.com/bsebregjan24/ccgsb _jul24/process.php?appid=599f8239ef9f8285485f04 1fca5fddcc&g=MmVhZWIXOTE3MDc5MTkxZjdIMT...
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Options:

1) Literacy rate
IERdT @)

2) Population density
=T 9

3) Birth rate

OH X

4) Death rate

TR

Correct Answer: 2) Population density
SE>AT 97

Candidate Answer: 2) Population density
SEST g

QID : 345 - By which name the river Gandak is known in Nepal?
TS e HI AuTd § ford 1 ¥ ST STl 872
Options:

1) Kali Gandak
EIRIKISES

2) Trishul River
[ERISEE]

3) Krishna

P
4) Narayani

AR

Correct Answer: 4) Narayani

AR

Candidate Answer: 1) Kali Gandak
EIRIKISES

QID : 346 - Map showing natural features of the earth such as mountains, rivers, oceans etc. is called
?

g R & S, USTS, TGS Bl Taiid B ard AHRH Hgad 872
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Options:

1) Political map
NEEIRERIGICE]

2) Physical map

3) Conventional map
TRURNTA HHRHA
4) None of these

T IS T

Correct Answer: 2) Physical map

Wfae AAfE

Candidate Answer: 2) Physical map

Wfde AR

QID : 347 - ‘Numerator’ in scale represents:
QO T "3{RT SR &
Options:

1) Ground distance
STHH BT g
2) Map distance
nﬂﬁﬁr Rl

3) Both the distances

aﬁfé’ﬁm

4) None of these

T A IS T

Correct Answer: 1) Ground distance

STH B gl
Candidate Answer: 3) Both the distances

< g

QID : 348 - Representative Fraction (R.F.) is also known as

gAY 3 (R.F) & AW Y i ST o 8
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Options:

1) Statement of Scale
UHM &1 faavor

2) Graphical Scale
bl Wbl

3) International Scale

e—m‘gﬂnﬁm

4) Plain scale

greT 9qTT

Correct Answer: 3) International Scale
J g

Candidate Answer: 2) Graphical Scale

Tithrd Whd

QID : 349 - Plain Scale is also known as

JreT 99T & A I W SFT ST g
Options:

1) Natural Scale
e G
2) Numerical Scale
E"@IW

3) International Scale
e—m‘gﬂnﬁm

4) Graphical Scale

fthahel el

Correct Answer: 4) Graphical Scale

b el

Candidate Answer: 2) Numerical Scale

AT UHH

QID : 350 - Minerals and fossil fuels are examples of non-renewable resources which take for

their formation.

TS 3R SR S TR-TAHROMT TFqT=T P ITERUT © O I7b 7169 & forw A4S

https://btet.sifyreg.com/bsebregjan24/ccgsb _jul24/process.php?appid=599f8239ef9f8285485f04 1fca5fddcc&g=MmVhZWIXOTE3MDc5MTkxZjdIMT... 25177



7/12/24, 12:48 PM BIHAR SCHOOL EXAMINATION BOARD
Options:

1) Hundreds of years
BESCH

2) Thousands of years
BRI Y

3) Millions of years
aral ay

4) Just a year

Fad Th a9

Correct Answer: 3) Millions of years

Ral oy

Candidate Answer: 3) Millions of years

IRal oy

QID : 351 - In June 1992, more than 100 heads of states met in in Brazil, for the first
International Earth Summit.

S 1992 H, Ugd SRSy gedt fRer wid & frg srofter & H 100 ¥ 3ifiep rgrene et
Options:

1) Rio de Janeiro

) St sfan
2) Sao Paulo
rsfl graen

3) Brasilia
EIRIRE

4) Curitiba

e

Correct Answer: 1) Rio de Janeiro

e St sRar

Candidate Answer: 1) Rio de Janeiro

et St sRar

QID : 352 - Which one of the following has benefited least because of globalisation in India?

fFrafefed 7 @ f6d T &1 URd H Il & HRU G HH ATH §3M 62
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Options:

1) Agriculture Sector

P &

2) Industrial Sector
SN &

3) Service Sector
a1 &

4) Secondary Sector

mreafie &7

Correct Answer: 1) Agriculture Sector

B &t

Candidate Answer: 1) Agriculture Sector

P &

QID : 353 - Which sector has not benefited by the policy of globalisation?
aefiepRur ot i T 5 & P ArH e gen g2
Options:

1) Agricultural sector

P &

2) Manufacturing sector
fafmior &=

3) Service sector

a1 &

4) All of these

PR

Correct Answer: 4) All of these

T gt

Candidate Answer: 1) Agricultural sector

P &

QID : 354 - When natural substances change form to become resources, they are called

S UTpfads Uerd U deadh: IH1eH §9 14 § 9 3 Heard §
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Options:

1) Renewable resources
EEICRUIBESRINE]

2) Non — renewable resources
IR-TIUT TTe

3) Human — made resources
Aa fAfHd e

4) Conservative Resources

Ffgdrat Sary=

Correct Answer: 3) Human — made resources
Aa Mt dareE

Candidate Answer: 3) Human — made resources
A fAfHd demem

QID : 355 - The Narmada Bachao Andolan is associated with
THer FErsi Sficia Jath 8-
Options:

1) Sardar Sarovar Dam
WER WG §7Y

2) Tehri Dam

fegdl sy

3) Hirakud Dam
TIPS it

4) Gandhi Sagar Dam
gt PR Sy

Correct Answer: 1) Sardar Sarovar Dam
WER WIR d7Y

Candidate Answer: 1) Sardar Sarovar Dam

IR WG aiY
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QID : 356 - Minerals need to be conserved because

(i) They are renewable.

(i) They are depleting rapidly.

(iii) They are needed for country’s industrial development.
(iv) Their formation is very fast.

TSI B TR B B MIHdT § Fif

(i) 9 Tty g1

(i) 3 oo ¥ e | B

(iif) T P 3NN fawra & o g7t siaaesdr gt §1
(iv) 371 fAHfur 9gd a1 gia 3|

3) (iii) and (iv)
(iii) 3R (iv)

4) All of these
g guft

Correct Answer: 2) (ii) and (iii)

(i) 3R (i)

Candidate Answer: 2) (ii) and (iii)

(i) 3R (i)

QID : 357 - Which of the following statements are incorrect with regard to placer deposits?
(i) They occur as alluvial deposits.

(ii) They are corroded by water.

(iii) They occur in ocean beds.

(iv) They are found in sands of the valley floors and the base of hills.

WRR o1 & Gaie § Fafied & 9 &9 91 S 7Tad § 2
(i) T STa 8Tt & =0 § ue o |

(i) T & SHT &R0 BT B |

(iii) ¥ T ae o UTT oI |

(iv) 3 IS & O B 3d 3R TRISal & YR H 1Y I ¢ |
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Options:

Correct Answer: 2) (ii) and (iii)

(ii) 3T (iii)

Candidate Answer: 3) (iii) and (iv)

(iii) 3R (iv)

QID : 358 - The Hazira — Vijaipur — Jagdishpur pipeline . does not pass through this state?

BOIRI-FASTIqR-SRTEIRIGR UTSuaTs- | 39 Iod ¥ 718} oRdl g1

Options:

1) Uttar Pradesh
IR U=
2) Gujarat

3) Madhya Pradesh

e Yo

4) Maharashtra

HERTE

Correct Answer: 4) Maharashtra

HERTE

Candidate Answer: 1) Uttar Pradesh

IR TS

QID : 359 - Kakrapara nuclear power station is located in the state of

PHIHRITRT TRHTY] Solf TR g Ieg & fRyd 82
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Options:

1) Maharashtra

HERTE

2) Andhra Pradesh
3ffe uew

3) Karnataka
Flcd

4) Gujarat

TSRTd

Correct Answer: 4) Gujarat

Candidate Answer: 4) Gujarat

QID : 360 - India occupies which place from the point of view of forest extent ?

I faRaR & WU ¥ YR {429 &1 B I RIF 872
Options:

1) Fifth

giear

2) Eighth

fraar

3) tenth

agal

4) None of these

ST DI TRl

Correct Answer: 3) tenth
o4qdl

Candidate Answer: 2) Eighth

v

S{1&dl

QID : 361 - The forest cover in our country has recently increased due to :

TR A g A a1 A H S gd ¢
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Options:

) Increase in natural forest growth

wﬁwmﬁwﬁq@

2) Increase in net sown area

S ST TTE & T G

3) Plantation by different agencies
ﬁﬁﬁ[ ToIRdl gRT &R
4) None of these

gqﬁ@@—g:@

Correct Answer: 3) Plantation by different agencies

fafira TRt gRT gemimon

Candidate Answer: 1) Increase in natural forest growth

wﬁwmﬁwﬁq@

QID : 362 - Where was first Nuclear power plant established in India ?

YRA H e RIF W Ugd URAY] Sl g AT o 71 417
Options:

1) Kalpakkam
helUghH

2) Narora

RRI

3) Ranapratap Sagar
RMUMYIAY 9TR

4) Tarapur

Correct Answer: 4) Tarapur

Candidate Answer: 4) Tarapur

QID : 363 - Why Mumbai High is famous ?

s gTs 1 R 82
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Options:

1) For crude oil
WS dd 8

2) For oil refinery
4 MY HRGTT
3) For coal export

DI & 1 8

4) For Nuclear Power

TRATY] AfeRf B

Correct Answer: 1) For crude oil

EIEEICK G

Candidate Answer: 1) For crude oil

EIEEIGK G

QID : 364 - The ratio of energy received from a raw energy source to energy spent to obtain the raw
energy source is called as

W%W:ﬁ@ﬁﬁmmﬁaﬁ?umm%m@aﬁﬁﬁmfwawm Hd Sl AId D G|
NIGIH

Options:

1) consumption ratio
[Ud {Jurd

2) fuel ratio

S 3T

3) energy yield ratio
ol IS ST

4) joule ratio

RUAREIN]

Correct Answer: 3) energy yield ratio

ol JUST ST

Candidate Answer: 3) energy yield ratio
Sl JUS ST

QID : 365 - Tata Iron and steel company was established in ?

TTeT 3R €S HUHT Sl RITYAT BT TT?
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Options:

1) In 1854
1854 H

2) In 1907
In 1907 &
3)In 1915
In 1915 H
4) In 1923
In 1923 &

Correct Answer: 2) In 1907
In 1907

Candidate Answer: 2) In 1907
In 1907

QID : 366 - Maximum foreign trade of India by which route ?
YRd &1 Fafe fagxh SR g anf gR gidr g2
Options:

1) Land route
R A7

2) Air route
arg arif

3) Sea route

el A

4) Pipe line
EISERIEE]

Correct Answer: 3) Sea route

el AR

Candidate Answer: 3) Sea route

BL G|

QID : 367 - Paradeep port is located in which state ?

R Ud- fhg I & 872
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Options:

1) Andhra Pradesh
3 UG

2) Odisha

REiR

3) Tamil Nadu

GIEREIS

4) West Bengal
SRR

Correct Answer: 2) Odisha

ISH

Candidate Answer: 2) Odisha

QID : 368 - The first train of India travelled for how many kilometers ?
YRd & Ugall YS! [ faaitiex & forg et o2
Options:

1) 23 Km
23 faeio
2) 34 Km
34 oo
3) 13 Km
13 fopH10
4) 42 Km
42 fepHto

Correct Answer: 2) 34 Km

34 f&Hi0

Candidate Answer: 3) 13 Km
13 fobeiio

QID : 369 - Which is the longest National Highway in India?

YR BT TG A AP ISTHRT DI 1 52
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Options:

1) NH5
NH5
2) NH6
NH6
3) NH7
NH7
4) NH8
NH8

Correct Answer: 3) NH7
NH7

Candidate Answer: 2) NH6
NH6

QID : 370 - Which is not a natural disaster ?
T Q P WPl SIS TS § 2

Options:

1) Tsunami

AT

2) Flood

dle

3) Terrorism
SIIRCZEI 4

4) Earthquake

Y

Correct Answer: 3) Terrorism
XIREZI

Candidate Answer: 3) Terrorism
STdhdiq

QID : 371 - Which of the following place receives the highest rainfall in the world ?

foa 7 gad ot auf g M W ad g 2
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Options:

1) Guwahati

Targe

2) Mawsynram
3) Cherrapuniji

4) Kolkata
CANE|

Correct Answer: 2) Mawsynram

HIRFRH

Candidate Answer: 2) Mawsynram

ARRE

QID : 372 - Durgawati Reservoir Project is located in which district of Bihar ?
gTTadt STar=r uiRareT fagR & foow fora & fRud § 2
Options:

1) Rohtas

2) Kaimur

PR

3) Gaya
T

4) Patna
geHr

Correct Answer: 2) Kaimur

TR

Candidate Answer: 2) Kaimur

R

QID : 373 - Which district of Bihar receives highest rainfall ?

S8R &1 gaiftie aul arar ST S AT g 2
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Options:
1) Kishanganj

2) Patna
gcr
3) Banka

2

EIEal
4) Bhagalpur
YRTAYR

Correct Answer: 1) Kishanganj

ICGHS]

Candidate Answer: 1) Kishanganj

ICRGHR

QID : 374 - Among the following Minerals, Which Mineral has the highest production in one year in
Bihar?

frafeied @ el & 3 feg @fe &1 fogR & 1o a9 § Jaiftie Idre giar g2
Options:

1) Pyrites
RIENECE

2) Limestone
FATURR

3) Steatite

Werge
4) Quartzite
HICHIC

Correct Answer: 2) Limestone

FATURR

Candidate Answer: 2) Limestone

FATURR

QID : 375 - Lech Walesa is from which country ?

<l arerdT fbyg 1 o el 32
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Options:

1) Russia
=
2) Poland

BISLES]

3) America
SARBT

4) England

Correct Answer: 2) Poland

BIGLSS

Candidate Answer: 2) Poland

TS

QID : 376 - In which state the Mahadalits have been separated from the Dalits?
forg U= & HgTafordl &I Gferd! ¥ ST fasa ar 82
Options:

1) Uttar Pradesh
STRYGY

2) Karnataka
HlCH

3) Bihar

foeR

4) Haryana

g

Correct Answer: 3) Bihar

fagR

Candidate Answer: 3) Bihar

N

QID : 377 - In which country was the opposition to the Olympic Games based on race?

frg ew A siaffe Wd &1 faliy 7 R 3natid ur?
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Options:

1) Phillipines
IESICIRS]
2) Mexico

Afcep!

3) Russia
RSN
4) Netherlands

Frezavs

Correct Answer: 2) Mexico

Afcan!

Candidate Answer: 2) Mexico

AfcRaep!

QID : 378 - The written form of the basic rules is ?

gt fam o1 fafad ¥ u &-
Options:

1) Article

3Ta

2) Constitution
Sfaer
3) Schedule

EEGE

4) Government
IRPR

Correct Answer: 2) Constitution
RIEHIE]
Candidate Answer: 2) Constitution

Tfgem

QID : 379 - What is the territory under the immediate political control of another state called?

Pt 3 5T & T Td JSHITaD =0T aTet & T T bl STl 872
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Options:

1) Communist state
NI CIFRE

2) Colony

3) Democratic state
W R

4) None of these

gqﬁ@m—g:@

Correct Answer: 2) Colony

EANIE]

Candidate Answer: 2) Colony

Bl

QID : 380 - How many years is the tenure of Lok Sabha?

BT BT HRIHH fobd- I BT BIdT 872
Options:

1)4 yrs
499
2)5yrs
5%
3)6 yrs
6 %
4) 10 yrs
10 99

Correct Answer: 2) 5yrs

59y

Candidate Answer: 2) 5yrs

59y

QID : 381 - Which person is not entitled to vote?

B I A dic 33 BT SAABRY T2 §ier 272
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Options:

1) Idiot or Bankrupt
arTe 1 feateran

2) Adult person
JD AT

3) Rich person
SHR ek

4) Poor person

RIS fert

Correct Answer: 1) Idiot or Bankrupt

urTe a1 fearferar

Candidate Answer: 1) Idiot or Bankrupt

urTa a1 feanferan

QID : 382 - How many seats are reserved for Scheduled Castes in Lok Sabha?
A THT B SIfd st & fo fra= Tie smefem g2
Options:

1) 84
84
2) 37
37
3) 41
41
4) 51
51

Correct Answer: 1) 84
84

Candidate Answer: 4) 51
51

QID : 383 - Which Article of the Constitution empowers the President to appoint a Commission to
investigate the condition of backward classes in general and suggest ameliorative measures?

I BT D 1 STe APUM Bl T SMANT YT R BT SHIBR Sl & S 9= T § frss
@ U 31 ST A 3R JURTEHS IUTT JIITT?
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Options:

1) Article 342

e—lﬂ%‘c{ 342

2) Article 344

&E@‘a’ 344

3) Article 340

eﬂ%‘c{ 340

4) Article 339

&E@‘q’ 339

Correct Answer: 3) Article 340

TG 340

Candidate Answer: 4) Article 339

TG 339

QID : 384 - The President can proclaim a state of emergency in case of

RIFUTY STUTTeRTS 1 R BT SO R Tavell §
Options:

1) All of these

ESERCKN

2) Threat to financial stability of the country.

&3 &1 faitg fRRaT & forg waw|

3) External aggression or internal disturbances threatening the security of the country,
TR SHTHHTT AT SHTARD TSTS! U G I Y& Pl Wl @,

4) Failure of constitutional machinery in a particular state.

fpat faiy I H Haunfe 7= &) favraar|

Correct Answer: 1) All of these

R g g

Candidate Answer: 1) All of these

R g gt

QID : 385 - According to which constitutional amendment the term of Lok Sabha was made 6 years?

o e TR & SFUR AGUH & HRADGIA 6 aY fda T UT?
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Options:

1) 42nd
42df
2) 44th
44d1
3) 46th
46 af
4) 48th
48 af

Correct Answer: 1) 42nd
429f

Candidate Answer: 1) 42nd
429l

QID : 386 - How many states in India have a Legislative Council?
YR & fore et & fae ufkeg 82

Options:

8%5 o=
23 T —
3 o s

c o

Five

£ g

aix

Correct Answer: 3) six
9

Candidate Answer: 3) six
3.

QID : 387 - Who appoints the judges of the Supreme Court in India?

YR H gdfea <Amrag & et & Fgfaa o w182
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Options:

1) Governor
RSN

2) President
eyt

3) PM

PRIEEE]

4) Vice President
SURTSCTfd

~

Correct Answer: 2) President

Ieeufa

~

Candidate Answer: 2) President

eyt

A

QID : 388 - Who is the custodian of the Constitution in India?
HYRA § Y™ &7 TRefd D 82
Options:

1) President of India
HRd & AFUfd

2) Parliament

TG

3) Election Commission
AT SHTART

4) Supreme Court
SdH Ty

Correct Answer: 4) Supreme Court
S dH g

Candidate Answer: 4) Supreme Court
SdH T

QID : 389 - In which year fundamental Right to Elementary Education was included in the
Constitution?

Ui e & Hifcre ISR &1 U™ & &e wirg &) T8 2
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Options:

1) In 2000
2000 H
2) In 2001
2001 H
3) In 2002
2002 ¥
4) In 2003
2003 H

Correct Answer: 3) In 2002
2002 H

Candidate Answer: 2) In 2001
2001

QID : 390 - Where is provision of reservation for women in India?
R B Aigarsit & oy sRemr &t awi1 Hal & 2
Options:

1) In Lok Sabha
AHaH |

2) In Legislative assembly
faem=rgan o
3) In Panchayati Raj Organisations.
LEICRIRIGEI IR
4) In Cabinet

BT 3

Correct Answer: 3) In Panchayati Raj Organisations.

T IS gATeit #

Candidate Answer: 3) In Panchayati Raj Organisations.

et IS Gt A

QID : 391 - Which of the following evils are declared illegal by the Indian Constitution?

frafaRad o @ forg RIS &1 YR Ife™ gRT sidy =ifvd fasan mar g2
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Options:

1) Traffic in human beings
o B
2) Begar

3) Child Labour
EISEE
4) All of these

99 gt

Correct Answer: 4) All of these

0 et

Candidate Answer: 4) All of these

ER kst

BIHAR SCHOOL EXAMINATION BOARD

QID : 392 - What is the fee paid by an Indian National to file a First Appeal?

TP YR ANTRS GRT U4 3id SRR = & fTE fasd=1 Yo sfaT fasar Sirdm g2

Options:

1) Rs. 10

2. 10

2)Rs. 50

2. 50

3)Rs. 20

2. 20

4) None of these

T A IS T

Correct Answer: 4) None of these

3T A B T

Candidate Answer: 1) Rs. 10
.10

QID : 393 - Who is the speaker of Rajya Sabha?

ISTIHT BT JHTURT P & 2
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Options:

1) President
RIS

A

2) Vice President
JWRTSCUfd

3) Prime Minister
G

4) Speaker of Lok Sabha
AT o el

Correct Answer: 2) Vice President

IRl

~

Candidate Answer: 2) Vice President

SRl

~

QID : 394 - is a violent conflict between opposing groups within a country that becomes
so intense that it appears like a war.

. foreht <w1 & iR faRieft Tgt & ot U feaes o § S a1 < 8 iran @ o g S
Tditd g gl

Options:

1) Civil war

e g

2) Proxy war
ERRE

3) Colonial war
fufrafie g5
4) None of these

T A PIS Tl

Correct Answer: 1) Civil war

e d

Candidate Answer: 1) Civil war

e g

QID : 395 - In dealing with power sharing, which one of the following statements is NOT correct about
democracy?

1 Bt TRGR) @ ues ¥, didda & IR & Fufeiad § 3 19 91 $y= el T8l 82
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Options:

1) People are the source of all political power.

AT @t e Wfdd & Ad &

2) In a democracy, people rule themselves through institutions of self-governance.

Aepad |, AN WU BT G137 & A1 F e R AR B ¢ |

3) In a democracy, due respect is given to diverse groups and views that exist in a society.
diepdal §, TaTS | Hie fafay Togl iR =Y o Sfra g faar Srar 31

4) In a democracy, if the power to decide is dispersed, it is not possible to take quick decisions and
enforce them.

drpad o, afe ol 3 oY wifdd foradt g2 B, O @l Fofa o 3R 3= @y e Tva T2 B

Correct Answer: 4) In a democracy, if the power to decide is dispersed, it is not possible to take
quick decisions and enforce them.

dpad H, afe ol o ot wifdd foradt g2 B, o @i oo o 3R I g et Tva 21 B

Candidate Answer: 4) In a democracy, if the power to decide is dispersed, it is not possible to take
quick decisions and enforce them.

dpad o, afe ol 3 oY wifda et g2 B, O @l fFofa o 3R 3= @y e Tva T2 B

QID : 396 - which one of the following countries has two party system
frafafed @ @ fow 32 # o goig womelt 82

Options:

1) Bangladesh
CIRKIGR
2) USA

PUSIY

3) China
Ek

4) Russia
=

Correct Answer: 2) USA
JusY

Candidate Answer: 2) USA

QID : 397 - The basic outcome of democracy is

Apad &1 gol IO §
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Options:

1) Political, social and economic outcome
TSI, ST IR 3Mfie aikomm

2) Military outcome

=1 gRomy

3) Restricted and limited welfare policies.
Tefd SR Tfid SeamueRT Hifadr|

4) Elimination of poverty

TR e

Correct Answer: 1) Political, social and economic outcome

Ieifoes, T iR 3ffe gfivomg

Candidate Answer: 1) Political, social and economic outcome

STifoes, I 3R 3ffes ufomy

QID : 398 - Gross domestic product of a country is the total of its net domestic product and

foreft 31 1 Thd TR IATE ISP Y& W IATE 3R HT AT B
Options:

1) Informal economy

ST SfeaRT

2) Earnings on foreign exchange in the domestic country
Tl ox | faesh gor R g

3) Subsidies on the consumption of goods and services
g3t 3R Faraft o Wud R Afest

4) Consumption of capital in the production process

IaTe Uichan & dsit &t @ud

Correct Answer: 4) Consumption of capital in the production process

JTG Ufehar | Usit &1 @ud

Candidate Answer: 2) Earnings on foreign exchange in the domestic country

ERT AR H =i o1 W HArg

QID : 399 - Which of the following statements best reflects the concept of "participatory justice" ?

fFoferad & @ & 91 HYT FeHTi " &1 GYRUN &l Jaidd =Y I STdl g2
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Options:

1) Justice achieved through public trials and legal proceedings

T~ URIEN 3R B! SRidTe! & T ¥ =R e oot T

2) Justice achieved through active involvement and democratic participation
Hfeha UTieR! SR Alwdiae UFGRT & [Tead ¥ =g UTwd fobdm T

3) Justice achieved through religious and spiritual practices

T SR seATfare TuTsli o HIem § <1 Uit fosan

4) Justice achieved through international treaties and agreements

SRisTa Wit oik Tweidl & Fierd ¥ < T fopa

Correct Answer: 2) Justice achieved through active involvement and democratic participation

Ifehg HIfteRY 3R Aepdie HIfleR & ATear J U1 UTed foar T

Candidate Answer: 2) Justice achieved through active involvement and democratic participation

Ifshg MR} 3R Aedie HrfleRt & Arenw @ < ure fosar

QID : 400 - Where is direct democracy in modern age?
3MYfAH T H Yges Aidhaa Hal 82
Options:

1) in Britain
fore=

2) In france
wig |

3) In India
HRA |

4) In switzerland

RyeoRdvs |

Correct Answer: 4) In switzerland

RyToRdvs |

Candidate Answer: 3) In India
HRA #

QID : 401 - The educational objective of pre-active phase of teaching is

a0 & Ud-qieha =R 1 Afefep I &
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Options:

1) action and reaction
foma SR Tfciferar

2) reinforcement and feedback

gAe e 3R ufagfy

3) selection of the most appropriate techniques of evaluation
i o] Y9 IUGad qb-1ch] bl T

4) to define educational aims

Qe LA B RIS =T

Correct Answer: 4) to define educational aims

Qe Ie=al o uRHIRE H

Candidate Answer: 3) selection of the most appropriate techniques of evaluation

T—iDh DI a9 FUGdd db-1b| BT aa-

QID : 402 - It is best for teachers to teach
el & foe ugrT watad §
Options:

1) from the viewpoint of adults
D] & TRHI Y

2) complex task first

wifed &1l uge

3) simple topic first

Ugd R fawg

4) from the viewpoint of experts

fagos 1 e @

Correct Answer: 3) simple topic first

Ugd IR fawg

Candidate Answer: 3) simple topic first

Ugd W fawg

QID : 403 - Which of the following would you use to shape the habits?

30 9 ¥ 31edl &1 THR ¢ & [T [hadhT SUTRT H1?
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Options:

1) Indoctrination
ICEI

2) Teaching
fRraror

3) Training
TfReon

4) None of these

T A P T

Correct Answer: 3) Training

gfRrefor

Candidate Answer: 2) Teaching
fRreror

QID : 404 - At the knowledge level, students will
I D TR WR, BH B
Options:

1) Argue the point

e IR §89 B

2) Recall information
BIECANKICRLC]

3) Categorize topics
fawet &1 aiffed

4) Calculate distances

giRAl &1 0T B

Correct Answer: 2) Recall information

STFSRY aTg 39

Candidate Answer: 1) Argue the point
e, IR 989 B

QID : 405 - Each learning outcome should begin with:

U URe BT ROMTH S8 L& BT ART:
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Options:

1) Alearning verb
LEZICEEIRINER

2) An action verb

Teh TTfafafe gae foan
3) An outcome verb
T GRuTH fobar

4) Any verb

IS fobam

Correct Answer: 2) An action verb

Ue Tiafafy g fsar

Candidate Answer: 1) Alearning verb

e e arall fepar

QID : 406 - The stage in problem solving that includes the preparation of suitable hypothesis for
investigation.

A= GHTYTT T I8 TR FH Sifd USard & forT GRS AT R 31 e 8
Options:

1) Survey

e

2) Planning for action

BT B & [T o ST
3) Problem description
TERI 1 faaRor ST

4) Discussion

EEll

Correct Answer: 2) Planning for action

BT DR P T IS IHT

Candidate Answer: 4) Discussion

EEll

QID : 407 - Consider the following statements I. This method is like the process of deduction wherein
you cut down a bigger concept into smaller ones. Il. The knowledge achieved by this method is
permanent. The above given statements are referred to which method of teaching?

fafafad Sy R fGaR &3 1. g8 faf St o ufhar &) die & SOH 3110 T 981 3auRun &l BIdT
&ra%nﬁgvn&h%m% I1. 39 f3fr & urd 39 R 811 81 SWR U 7w wuA frw fRiemr ugfa &
Hefid Hd 82
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Options:

1) Synthesis

2) Analysis
fareiwor

3) Deductive
[BUEE]

4) Inductive
SATHA

Correct Answer: 2) Analysis

ICESLIYI

Candidate Answer: 2) Analysis

ICESLILI

QID : 408 - While teaching the topic on "Our Friend-Birds' to class Il students, Nalini followed the
following methodologies. |. Showing a documentary film on birds. Il. Using a chart having pictures of
different birds and explaining briefly. Ill. Taking the students to the nearby park and asking them to
observe the birds carefully. Nalini is using different approaches of learning in order to

Tt wan F fenfia o gAR fiE-ueh fawg uerd vy afert 3 Rufafad ugfaat o1 urem feani 1.
Ul R T STagidt v femarr 1. fafta uférat & fott arar 9 &1 SuahT AT R Tery [T |
|||.ﬁaﬁﬁaﬁ;m%ﬁﬁﬁwu%ﬁﬁwmﬁ%ﬁﬁmﬁ%ﬁ%%@amw
JUTRT R et

Options:

1) follow her lesson plan

JYD! YIS TSI BT UTel BT

2) meet different requirements of learners having multiple intelligence
-G arat Rignfiat ot faflrd srazasmarsii &1 g1 =

3) impress other teachers and parents

3= FRerapt 3R SfYUTTH! Y THTfad HRAT

4) promote reasoning skills in the students

B H TP B DI TSIl ST

Correct Answer: 2) meet different requirements of learners having multiple intelligence

8- aTal Rieiar &t fafirer srazaeparsii &1 @1 &l

Candidate Answer: 4) promote reasoning skills in the students

ST H db DI B g¢raT 1

QID : 409 - Teaching through a lesson plan is beneficial because

TS AT & HILAH A UHT ATHCIS § Hife
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Options:

1) a teacher can modify his own behaviour after evaluating his pupils

S g 3o faenfial &1 geiche & & TG 30+ IR H URNYH HR 9hdl §
2) a teacher can achieve all the objectives by adopting suitable strategies

T e Iugad IHITTET oY ST Tt ILR! Y U HR Tl §

3) teacher can complete his syllabus in time

fR1e/ 30T UTaushd IHT IR ORI X o dl ?

4) All of these

99 gt

Correct Answer: 4) All of these

0 et

Candidate Answer: 4) All of these

ER kst

QID : 410 - Which type of lesson plan is comprehensive and complex, requiring extensive planning?

Y THR &1 UTS TS AU 3R Sifed &, forads e faxga aemT &t siawgdsar gt 82
Options:

1) Daily lesson plan
e s A

2) Weekly lesson plan
g TS Tiorl

3) Monthly lesson plan
AR TS IS

4) Sequential lesson plans

3T UG TS

Correct Answer: 3) Monthly lesson plan

AR UTS ST

Candidate Answer: 4) Sequential lesson plans

3eh i UTS TS

QID : 411 - “Spare the rod and spoil the child”, gives the message that

S P OIS 4 IR T2 Bl fTS g, Jg TeW AT §
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Options:

1) children should be beaten with rods.

Sl Bl Sei 9 Utel ST 1T,

2) corporal punishment is not acceptable.

3) undesirable behaviour must be punished.
3{q11d FagR D SfSd fobar ST =13 |

4) punishment in the class should be banned.

FAT & I9T WR b 18 .

Correct Answer: 3) undesirable behaviour must be punished.

JATSHIT HIER P! &1Sd far ST 1T

Candidate Answer: 4) punishment in the class should be banned.

FAY H Il R A TS ST,

QID : 412 - Devices can make a lecture more understandable and meaningful. What is the most
important thing a teacher should consider in the selection and utilization of instructional materials?

"IUBUT Ueh AR BT 3feh JHIA TG 3R b 91 Jobd & | Teb 1R&rep ! FRraror Jrft & <o
3R IUANT H T HEgaqu! fobd o1 TR fAaR 3 =nfgu?”

Options:

1) Objectives of the lesson

8 & I

2) Availability of instructional materials
R80T Ireedt 1 Juetse

3) Attractiveness of instructional meterials
SICRIMHAD TTHUT BT STHYT

4) Degree of interest on the part of the students

EEICIEINESRE RSN

Correct Answer: 1) Objectives of the lesson

TS & I

Candidate Answer: 4) Degree of interest on the part of the students

B BT 3R Y Tl D TR

QID : 413 - Full form of SIOP Model is

SIOP Higd &1 quf wu §
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Options:

1) Sheltered Intervention Observation Protocol
3 §EI&Y 3raciich UIcIbIat

2) Sheltered Instruction Observation Protocol
M1eRT e sradia Wiedid

3) Sheltered Instruction Objection Protocol
M1HRT FERT Smafy Uietera

4) Sheltered Intervention Objection Protocol

31 §EI&T 3MMUfy Uicibra

Correct Answer: 2) Sheltered Instruction Observation Protocol

3NyRg R sradied Wetaid

Candidate Answer: 2) Sheltered Instruction Observation Protocol

3yfd Y Sradie Uieisia

QID : 414 - After completion of class teaching
HefT &0 R A & a8
Options:

1) the blackboard should be got cleaned by any students
Ihare B fordt ot faemlf & W Framan T A1ge

2) the blackboard should be left as it is

RIPaS PI dY g BIS ol AMfeY

3) teacher should clean the blackboard

fR1e/® P HaIS TIh BT AT

4) Anyone of them

FH A DS ot

Correct Answer: 3) teacher should clean the blackboard
18/ P! sHaIS T HAT AR

Candidate Answer: 3) teacher should clean the blackboard
18/ P SHaIS T BT AT

QID : 415 - Sense of responsibility is not cared in

g U= | fSrHeRT ®1 HIgHT ot URATE Tal ot Siral
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Options:

) Instructional administration

e—a%sn?qaa PRIEE]

2) Authoritarian administration
SR ard! U=

3) Democratic administration
[IEZIIECANINE

4) Laissez Faire administration

ST TR

Correct Answer: 4) Laissez Faire administration
BT TRITE

Candidate Answer: 2) Authoritarian administration

R IR EIREC AR NI

QID : 416 - School is an institution of socialization of children where-
A gl b GHTSIBRU &I T U TRIT § STEl-
Options:

1) schoolchildren occupy the central position
T I el el 1 Biell §

2) school routines occupy the central position
TG I o 3 el b1 glar g

3) school activities occupy the central position
TG I 5 d S Tafdl &1 gidl &

4) schoolteachers occupy the central position

T R Wl & TRi&fh] &1 gl

Correct Answer: 1) schoolchildren occupy the central position

T R el gl b1 Il ©

Candidate Answer: 1) schoolchildren occupy the central position

TG R ol §=d BT el §

QID : 417 - Which of the following is a Tertiary Sources of Information?

R § o1 1 g1 &1 I 9id 872
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Options:

1) Journal
BlECA
2) Bibliography

3) Encyclopaedia

4) Bibliography of Bibliographies
T Gt Dl T it

Correct Answer: 4) Bibliography of Bibliographies

Ty gl Bt U it

Candidate Answer: 1) Journal

gfept

QID : 418 - As a facilitator of learning, a teacher requires
TR & GHdd & U § T RIed BT Sa=adhdl oIl &
Options:

1) two months leave

1 HEH &1 get

2) one year training

TS 9 BT YA

3) opportunities for professional and academic advancement
URIaR 3R Q&M 3afd & SawR

4) opportunities to travel around the world

ST R T AT HRA & AR

Correct Answer: 3) opportunities for professional and academic advancement

IR 3R Qeifdrs Iafd & g

Candidate Answer: 4) opportunities to travel around the world

ST R H I B & AR

QID : 419 - Basic education should be

gfarel fRem g arigy
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Options:

1) student oriented
SH 3HY

2) activity oriented
Tfafafy Svg@

3) project oriented
URaoHT 3 §
4) all of these

g gt

Correct Answer: 4) all of these

T gt

Candidate Answer: 4) all of these

T gt

QID : 420 - Which one of the following will happen if the answer booklet is evaluated by other teacher
than the teacher who teaches?

e IR GRAIPT o1 Yedih UM arat RIefd & farar fondt 3rg fRieres g1 fovar oirar & ot Fofafea o
1 gRT?

Options:

1) Students will get less marks

2) Students will know actual knowledge level
EJEICACIS I CEARIE RS NEARRIRE S|

3) Students will develop more confidence

B A ATy S

4) Students will not be given unjust and partial treatement

B! & AT STyl SR U&OTaqUl agR g1 fhdT S

Correct Answer: 4) Students will not be given unjust and partial treatement

B! & AT ATyl SR U&aTaqul agR g1 fdT S

Candidate Answer: 4) Students will not be given unjust and partial treatement

B! & A1 Syl SR vgaTaqul agR T8t foar s

QID : 421 - Relative grading is otherwise known as:

e ST D1 3 fbg =0 & ST 1T 8
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Options:

1) criterion referenced grading
oy dafa afgT
2) Norm referenced grading
A Haftid AFES

3) Standard grading

mﬂﬁ@—dﬁ%ﬂ

4) None of these

sqfr q PIs el
Correct Answer: 2) Norm referenced grading
AP afHd Ards

Candidate Answer: 3) Standard grading

TSI AT

QID : 422 - Absolute grading is otherwise known as:
RO AT B 37 fe =0 & 7 STl @
Options:

1) Norm referenced grading
A HafHa AT
2) Criterion referenced grading
ﬁmf Heftfa afgT
3) Standard grading

mﬂﬁ@—dﬁ%ﬂ

4) None of these

THAAPE T

Correct Answer: 2) Criterion referenced grading

ey defifa afsT

Candidate Answer: 1) Norm referenced grading

A Tefia afET

QID : 423 - Which of the following is NOT an informal assessment?

ST ¥ P 1 SHIUEINRG Hedid 5] 67
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Options:

1) Observation
V0T
2) Project

3) Rubrics

Sioaq

4) Participation

Correct Answer: 2) Project

RIS

Candidate Answer: 3) Rubrics

Sioaq

QID : 424 - In planning and implementing curriculam, school makes its selection from:

TG & AT S 3R S AR 6 H W d ° 39T 997 gidl o:

Options:

1) Nation

N1

2) Region

&

3) Culture

4) Mass communication
EEREIN

Correct Answer: 3) Culture

i

Candidate Answer: 4) Mass communication
SHAR

QID : 425 - Five stages of awareness, interest, evaluation, trial and adoption are for:

ST, B, Hedie, TR0 3R Siflexur A ufa aRo ................ ¥ forg §
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Options:

1) Curriculum change
aTeaa! URacH

2) Curriculum formation
uTSEE| 1 T3

3) Curriculum development
aTeaad| faera

4) Curriculum implementation

ST Hraaa

Correct Answer: 1) Curriculum change

ureaaf uRad—

Candidate Answer: 3) Curriculum development

ureaeaf faerg

QID : 426 - Teaching learning process is a journey from-
fRreror 31T Ufthar T I &-
Options:

1) Concrete to abstract
o & ot

2) Known to unknown
BIGEIEEIG]

3) Simple to complex
R Y wifed

4) All

at

Correct Answer: 4) All

g

Candidate Answer: 4) All
it

QID : 427 - For a teacher teaching a class with large strength, which of the techniques is best?

TS &I AT H&f B UgH aTdl fRI&H & e, o I do-iid Jay 331 g2

https://btet.sifyreg.com/bsebregjan24/ccgsb _jul24/process.php?appid=599f8239ef9f8285485f04 1fca5fddcc&g=MmVhZWIXOTE3MDc5MTkxZjdIMT...

64/77



7/12/24,12:48 PM BIHAR SCHOOL EXAMINATION BOARD

Options:

1) Debate, discussions, practicals
2) Group work with a lecture
IRAM & 1Y JHE BT

3) Lecture and class notes
IR 3R Bl A

4) Self study and asking questions
- 3R Y G

Correct Answer: 3) Lecture and class notes

R 3R HeT ey

Candidate Answer: 1) Debate, discussions, practicals

QID : 428 - is the major cause of difference in the classroom behaviour of boys and girls.
TASHI 3R ASIH & HeT TdER A 3R BT TG BRI gl
Options:

1) Developmental differences
fapTaTeT® Have

2) Educational levels

Qe TR

3) Job aspirations

58 F amepiem

4) Societal expectations

AR MUY

Correct Answer: 4) Societal expectations

AR SU&TE

Candidate Answer: 4) Societal expectations

TS el

QID : 429 - An object or device used by a teacher to enhance or enliven classroom instruction is
known as

Hefl Y B Fg AT Slidd B & forg Rigfes gR1 SUAN B S aTell a¥g a1 JUSR &1 fbd U H
ST I 82
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Options:

1) audio aid

Sfifear areht

2) visual aid

=2 gt

3) teaching aid
FRr&707 et IuesRur

4) activity aid
Tfafafy gt

Correct Answer: 3) teaching aid

fRreor Irwlt Syl

Candidate Answer: 3) teaching aid

fRrero1 I SUHRT

QID : 430 - Audio-visual aids

TYY-g JTHUT
Options:

1) should be small
BICT g1 18T

2) should be large

ESIREIEIIHY

3) should be heavy

YRY T =1feY

4) should neither be large nor too small

1 Al 81 g1 1R T SR 7 §1 §gd Bl 11 Aoy

Correct Answer: 4) should neither be large nor too small

1 3l 981 g1 A1feT SR 7 81 §gd BleT g1 Aoy

Candidate Answer: 4) should neither be large nor too small

T A §ST 11 91T 3R 7 &1 9gd BieT g1 a1y

QID : 431 - Who Was Michael O'Dwyer?

AEHA 3PGAR B UT?
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Options:
1) Lieutenant Governor of Punjab
UITe o1 SURTSIUT
2) Chief Justice of Punjab
USTS o1 e e
3) Chief Secretary of Punjab
PEICKIRC R C
4) Military Administrator of Punjab
TSI &1 =T YR

Correct Answer: 1) Lieutenant Governor of Punjab
UITe ol ISURTSIUTA

Candidate Answer: 4) Military Administrator of Punjab
USIE &1 4T URIH

QID : 432 - Which district of Bihar is most forested?

S8R &1 o1 1 S/ Faifte arsifed 872

Correct Answer: 3) Kaimur

SR

Candidate Answer: 3) Kaimur

R

QID : 433 - Which among the following is an example of the unitary system of government?

fRoferiRad # A S ThTde G- YUl BT IS8 872
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Options:
1) Belgium

2) Sri Lanka
PINE
3) Both Sri Lanka and Belgium
&ﬁrﬁr IR Sfcad gl
) none of these

gqﬁ@@—g:@

Correct Answer: 2) Srilanka

EISEDl

Candidate Answer: 3) Both Sri Lanka and Belgium

sficiepT 3R Sfcorad g

QID : 434 - Which leader was killed in the lathi charge against the Simon Commission?
A HHRA & faRiy § g adtamst # {6 a1 &t Hid gt 182
Options:

) Khudiram Bose
@E"mﬂ I
2) Subhash Chandra Bose
GHIY T S Bl
3) Bhagat Singh
HiTd R &1
4) Lala Lajpat Rai
NINNIEECRRE]

Correct Answer: 4) Lala Lajpat Rai
AT ATSITd 1 bl

Candidate Answer: 4) Lala Lajpat Rai
AT ATSIYd 1 hi

QID : 435 - How many times did India win the one day “Cricket World Cup champion” title?

YR 7 fha-l IR "Teieadia fhee 3y U Afga &1 faare sfidar g2
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Options:

-
~

One

=4
g

& 4

Three

i

%h
m
o
c
=

Correct Answer: 2) Two

al

Candidate Answer: 2) Two

al

QID : 436 - Which one of the statements given below is incorrect about play?
WA & IR F -9 feu 0w | 9 S 91 7T g2
Options:

1) It teaches language skills and social relationship

TG T HINA SR AT Harel Rarar g

2) It is not good for the children who feel difficulty in adjustment with other child

Tg I = & 7T 33T T & O ¥R 7= & 1Y AT 93T H HieTs Aggy #d §
3) Play helps in building imagination power and developing thinking skills

W FHeg1 Yo & AT 3R Wi SR [GHRIG 3 T e Bl §

4) Play activities are essential for healthy development of child

= & WX g & fow @ nfafafmi o &

Correct Answer: 2) Itis not good for the children who feel difficulty in adjustment with other child

g 39 o= & oY s 161 § Off ¥R 9= & WY AT d 9™ H Hie-Ts Aegyd $Rd §

Candidate Answer: 2) Itis not good for the children who feel difficulty in adjustment with other child

Tg I Sl & T 3T T8l § S QIR 9= & WY dTeiid 9o H B3 Hegd Bd 8

QID : 437 - Metro Railway Station is located at outside and...... both
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Options:

1) Underground

ftrTd

2) Outside
dTer

3) In side
HaX

4) In Air
gard

Correct Answer: 2) Outside
EIRRS

Candidate Answer: 1) Underground

ftrTd

QID : 438 - Which nutrients give us energy to do work?
I U9 dcd B8 BIH B P oL Froff d 82
Options:

1) Fats and carbohydrates.
CRIREIN

2) Vitamin and minerals.
faeTfi ofik @fet

3) Protein.

PIEIE!

4) All of these

at

Correct Answer: 1) Fats and carbohydrates.

T 3R BEERSE

Candidate Answer: 4) All of these
gt

QID : 439 - After diagnosis a doctor says to a patient that there is less haemoglobin in his blood.
Which of the following should he eat to make up the deficiency of iron?

feT & 91¢ U Sder T T I Pedl & b I Iad H SHANCIS HH 81 3R Bl HHl &bl I
HRA o forg 39 Fafafad @ 9 o @ arfee?
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Options:

1) amla, green leafy vegetables, jaggery

3fiqa, g3 TtieR Afesdl, TS

2) rice, sugar, amla
TTad, =i, fiaar
3) green leafy vegetables, wheat, orange
& IR Afesar, g, Fav1
4) jaggery, lemon, pea
Correct Answer: 1) amla, green leafy vegetables, jaggery

3{TaaT, B UieR Afeswal, T8

Candidate Answer: 3) green leafy vegetables, wheat, orange

& TRieR Ifesrat, g, Y’

QID : 440 - Which is the longest National Highway in India?

YR BT TG A AP ISTHRT DI 1 82
Options:

1) NH5
TATd5
2) NH44

TUg44
3) NH10

TATE10
4) NH5

TTTEs5

Correct Answer: 2) NH44
44

Candidate Answer: 1) NH5
g5

QID : 441 - The sum of the four angles of a quadrilateral is-

U & IRI B0 BT I Bl 2-
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Options:

1) 180°
180°
2) 270°
270°
3) 360°
360°
4) 90°
90°

Correct Answer: 3) 360°
360°

Candidate Answer: 3) 360°
360°

QID : 442 - Which of the solids has the maximum number of vertices
g 319 7 =il &t o gay s 8
Options:

1) cuboid
YThRR
2) pyramid

3) cylinder
Rycier

4) cone
P

Correct Answer: 1) cuboid
YThRR

Candidate Answer: 2) pyramid
forifers

QID : 443 - Sum of -19 and -21 is

19 3R -21 HTANT &
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Options:

N =

'S

Correct Answer: 1) -40

Candidate Answer: 1) -40

QID : 444 - 16* 10 + 2 is equal to
16*10+2 & SRR @
Options:

1) 162
162
2) 192
192
3) 52
52

4) 320
320

Correct Answer: 1) 162
162

Candidate Answer: 1) 162
162

QID : 445 - A shirt can be made out of 3 m cloth. If there is a roll of 1350 m cloth, how many total
shirts can be made out of it?

wwsgﬂamﬁaﬂﬁmﬂﬁﬁl g 1350 Hiex HUS BT TH I o, Al 394 Fd ol [C T8
Sl el 82

https://btet.sifyreg.com/bsebregjan24/ccgsb _jul24/process.php?appid=599f8239ef9f8285485f04 1fca5fddcc&g=MmVhZWIXOTE3MDc5MTkxZjdIMT... 73177



7/12/24, 12:48 PM BIHAR SCHOOL EXAMINATION BOARD
Options:

1) 445
445
2) 455
455
3) 435
435
4) 450
450

Correct Answer: 4) 450
450

Candidate Answer: 4) 450
450

QID : 446 - Choose the correct option instead of the question mark in the given Question.

Diagonal : Square :: Diameter : ?
3T TR U= T yRAares g & I R 98 fddbed o |
fawul il - =g 2

Options:

1) Earth
gt
2) Clock
S]]
3) Circle

qd
4) Triangle

EE

Correct Answer: 3) Circle

qd

Candidate Answer: 3) Circle

qd

QID : 447 - Find out the odd element from the given options:-

3 &3 e fJredl & | fwy I &) 31d Bivg
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Options:

1) HGF
HGF
2) XWV
XWV
3) NML
NML
4) OPQ
oPQ

Correct Answer: 4) OPQ
OPQ

Candidate Answer: 4) OPQ
OPQ

QID : 448 - A man said to a woman, "Your mother's husband's sister is my Aunt (father's sister). How
is the woman related to the man?

wa%mﬁﬁwmﬁw," 3{TIHY ATATST & Ufd Bt S8 AT g1 8" | Afgel o7 39 3t § Fa
R=ar g2

Options:

1) Mother

EIGI

2) Sister

CRE|

3) Father's sister
g3{1

4) Son

el

Correct Answer: 2) Sister

e

Candidate Answer: 2) Sister

e
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QID : 449 -

in the given venn-diagrams, which venn-diagram shows the relationship between patna, Bihar &
Gaya ?

fer o/ o= 3l & Pia-w 49-3M@ gea, faER aur & dr gdy @ gefen ¥

A) OOO B) C} o) @

Options:

1) Option (A) is Correct
facped (A) W1 &
2) Option (B) is Correct
faped (B) Tt &
3) Option (C) is Correct
faeed (C) el B
4) Option (D) is Correct
faped (D) el ®

Correct Answer: 3) Option (C) is Correct

fasey (C) et 8

Candidate Answer: 3) Option (C) is Correct
fa®we () wEt §

QID : 450 - If M means +, K means-, R means + and T means*, then
12T8M12R16K14="
g M BT 3 = 8, KPT 31 - B, R BT 31 +8 qUT T 7 3ef* g o

12T8M12R16K14="
Options:

1) 48
48
2) 38
38
3)10
10
4) 20
20

Correct Answer: 3) 10
10
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Candidate Answer: 3) 10
10
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